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Math

primary 6 - second term

Choose the correct answer J

|

G i34
6

0 ® : © 1 @ :

B 1 =
@ o3

2 ® 1 © 8 @ ;
@ ST A8

2 2 2/ 2

(@ > @ < @ = @ other
@ 13x2.3 =

0.299 (®) 299 ® 299 @ 299
@ 1.3 x50 30

10 ® 100 © o1 @ o0
@ How many % is are there in 9 oranges ?

3 ® 1 © 1: @ ;
@ 35+007 = +7

0.35 ® 35 © 350 @ 0350
@ %of50=

5 ® 10 ©® 50 @ 25
2%+...=1

1 ® s © = @ =

1 1 2
() 3+1..2ofs

@ > @ < @ = @ other
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@ The reciprocal of 4 s ......

0 ® 4 © -4 @ ;
(13) 0044 +04=--

1 ® on ©® 1u @ oon
@ 273+ 25=2.73 + ...

25 ® 25 © o025 @ 0025
0.02x0.6 =

0.012 ® o012 © 12 @ 12

15 ® 27 © 2 @ 63
@ i+

@ 1 ® - © 2 @ 3
410 is equivalentto 8 : .....

® 10 ® 2 © 4 @ 20
33x3...33x3

> @ = @ < @ otherwise
@ ;3 ......... Thereciprocalof%

> @ = @ < @ otherwise
@ o3

- ® 10 © 8 @ 5
@ tx.-1

:  ®4 @ s @ :
@ ——t02=12

24 ® 024 © 24 @ 0024
@ jx-m

3 ® : © s @ -
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@9) lof27-..

® 3 ® 5 © 2z ® =
@ +§ =9

@ ; ® 3 © 27 @ -
@ Ahmed scored 25 point in 3 basketball games, the ratio scored by Ahmed is.........

@ 75:3 ® 3:75 © 25:3 3:25
0.3x0.1x0.2-=...

® &6 ® o6 © 006

The simplest form of 220 : 110 is ....

@ 22010 ® = ® 21

If 3:7 is equivalent to X:21, then X = ---

0.006

® ® ® 6

6 ® 49 ®© 9 3
If the ratio between a and b is 2:3 and the sum of aand biis 35, thena = -

21 ® 5 © 4 @ 14
Which of the following ratios is not equivalent to the three ratios ?

@ ; = @ % @ =
If the ratio g is equivalent to x1__51 , then x=---

25 ® 40 ® 9 @ #

Which of the following ratios are equivalent?

3. liNe 2 4 12 e 2 4
Zand; @ Eand 1—0 @ E andg @ gand;
If the ratio x : 4 is equivalent to 3:12 then x+3 = ---

@ &6 ® 3 © 4 @ 5

I the ratio between two numbers is 5:7 and the greater number is 21, then the smaller
numberis ......

@ 12 ® 4 © 10 @ 15

® ® ® ® ©® @ ®

®

°_8)
® 3 ® 4 © 24 @ 2
e 000 sy 0 e s e i
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To find the simplest form of the ratio 14:16 , we divide the two terms by ....

@ 3 ® 6 © 2 @ 14
0

2 a 1

From the opposite equivalent ratio, b—a = -

3 12 b
12 ® 7 © 15 @ 22
8 . 2
. ® 1 OREE @ 2
ifl:a =9:27,thena-=...
3 ® 1 © 5 @ 9
which of the following are equivalent?
(@ 5:6,2:3 ® 6:312 © 3.9,5:M @ 4:10,6:15
....... 4=3x
' 4
3 ® ; © 3 @
= of 2=
8 ® s © ; @ 2
How many% are there in 9 Apples?
15 ® 3 © 1= @ %
45 ...
18 32V
@ s ® 9 © 3 @ 2
Sarah has 3 green apples and 4 red apples, so The ratio between red apples and the total
number of apples
@ 4:3 ® 3:4 © 3.7 @ 4.7
8
§=4- 16 1 9
5 ® & © 3 ® 3
iflx—5=9 Jthen x =5
3 ® 5 ®© 15 @ 27

Jay o JUA o Cilhluiallg CilSasll e Jgiall plisos
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@ The reciprocal of B is ....

® o ® ¢ © - @
@ IFaxb=cthenc=+b-=..,whereaandb doesn't equal zero

(@ bxa ® ® a @ b
@ iF7:13=x:52,thenx = -

@ 1 ® 2 © @28 @ 35
@ 0.37x 0.1 = -

@ 37 ® 37 © 0370 @ 0037
If% =1x—5,thenx = ..

2 ® 4 © &6 @ 1
@ i+ 0.4=05

20 (® o020 © 2 @ 0020
31x04 ... 3.1x4

< ® > © - @
6+2 = .

24 ® 42 © 83 @ 32
@ If 3:5is equivalent to X:10, then X = -+

ON: ® 49 © 9 @ 3
48+-06=+6

0.48 ® 84 © 48 @ 480
How many 11—0 is are there in %?

3 ® 4 ® 6 @ 8
1235 ... 0.12 x 35

< ® - © - @
Which of the following ratios are equivalent?

@ f—oand% ® f—land% © ﬁand% @ %andg
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Iftheratio9:27=1:b thenb+3 = ---

6 ® 3 © 9 @ 5
. b+ ... =24
: ® ; © 9% @ ;
0.0045x 100 = ---
0.45 ® 45 ©® 45 @ 0045

If the ratio of the number of blue balls to the number of red balls is 1:5 and the number of

red is 30, then the number of blue s ......

25 ® 5 © 6 @ 55

From the opposite equivalent ratio, b—a = - 3 6 b
4 a 16

12 ® 4 © 15 @ s

@ 5+§=

@ If the ratio ; is equivalent to 25: X ,then X —5 =.....ccoenen.
5

8

....................... =7=1

N =

Fourth of 24 =

1
1= XA, L=t
3

IF24 x 31 = 744 ,then 0.24 X 3.1 =

ONONOROXONORONCKO

521 +-01=
3 4 3
Je =X
5 7 5
2 (Y pw SUED
7 iyl .z
X 3 024000
From the opposite double number line —————
2 AL ) v G e
W T o T —+—+—+—+—
os5100 00
%2 OO b
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an.;cw:qo:o |

Find x = Y= , from the opposite girls 5, 4 y
kablge boys 3 X 15
If the ratio between aand bis 3:5,and bis10, thena =..........ccccoe.....
32x5825%..00d

f§=£,then3><14=7x ...........................

7 14

IF2= 2 then X =,

5 20

The next ratio of 1:3,3to 9 ,%,
IF the ratio g is equivalent to 18: X then X —2 =

=2 thefiay =i
X 28

64:48 = ....: ... [inthesimplestform]

42

IF2=—,thenX+2 = b om—
X 35

The firsttermin theratio4:9 is X

From the opposite triangle, find the ratio between Aot 5cm
x y and the perimeter of the triangle is :

. i - = i = il Z

|f9 is equivalent to " SThenX — 4 = 3t

ifi=3,thenx+2 =L ...
32 1

Ahmed bought 1 130 bag of sweets at a price of 4 15—0 pounds per bag, so what Ahmed pays

1.3 + 244013 +uaidletinn

79503 ..ok 7.5x31

red squares to the number of blue
SQUAreS =.eue.. s sueeen

The ratio between the number of I

oy aumo JUA o LihLiiallg LS sl le Jguanll plido,
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Do
=)
I
I
—_
o
o

845+ 0.01 =

18:12= .....: ...... [inthesimplest form]

IFE=E.thena+ 2 gt

77 21
IFE = E,then N, - STra— )
the next ratio of 1:2, 2:4 , 4:8 , .

The ratio between number of trlang'Ies and - . - A A

number of squaresis ........
365 . A= 3600

Question 03 Answer the following questions J

@ Find the result :
(@2+23 (b] Bt a0 %‘% (D)046 x09 ()3 ﬂf§ (F16:02

5 22

® 0O®OO®®O®®

2 e . . . . A
Rana covered = Kilometer in 2 minute, How many Kilometer did she covered in one

minute?

you have% kg and you want to divide it into pieces the mass of each piece is % kg .How
many pieces can you make?

@ L ® 1O 6

sara has 6 liters of juice , she needs to divide them into small bottles ofg liter each . How

many bottles does she need ?
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S

Find the value of X in each of the following :-

2 _ A 2R
(@) ==— (b) —1=—
IF the price of 6 kg of orange is 36 pounds , what is the price of 9 kg of orange ?
Find each ratio in simplest form :  (a) 33:55 (b) 36:24

® @

If the ratio between of boys and girls in a class is 7:4 and the number of boys is 56 boys .
Find the total pupils in the class.

If Mahmoud has 4 green balloons and 12 red balloons, what is the ratio between each of
them in its simplest form:

®

(a) Number of green balloons to Number of red balloons.

(b) The total number of balloons to the number of red balloons.

@ Hana distributed % kilograms of coffee into packages equally, then each package contains

% kilograms. What is The number of these packages?
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@ Find the answer for each of the following :
(a) 2+ 2 (b)9.7 x 0.4 (@9:->  (d1B5+125

@ Find the value of m in each of the following :-

@ixm=1 () P
3 9 3 24
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@ Find:- (@) =+ 2 (b)56=07 (c)0.32x 0.12 (d)3of 48

A class has 18 boys and 24 girls , complete in the simplest form the ratio between
a) the number of girls and the number of boys
b) the number of boys and the number of girls
c) the number of girls and the number of class students

d) the number of boys and the number of class students

calll 202y pi
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Choose the correct answer J

|

G i34
6

0 ® : © 1 @ :

B 1 =
@ o3

2 ® 1 © 18 @ :
@ ST A8

2 2 2/ 2

(@ > @ < @ = @ other
@ 13x2.3 =

0.299 (®) 299 ® 299 @ 299
@ 1.3 x50 30

10 ® 100 ® o1 @ o001
@ How many % is are there in 9 oranges ?

3 ® 1 © 1: @ ;
@ 35+007 = +7

0.35 ® 35 © 350 @ 0350
@ %of50=

5 ® 10 © 50 @ 25
2%+...=1

1 ® s © = @ =

1 1 2
@) 3+3.2of5

@ > @ < @ = @ other
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@ The reciprocal of 4 s ......

0 ® 4 © -4 @
(13) 0044 +04=--

1 ® on ® 1u @ oo0mn
@ 273+ 25=2.73 + ...

25 ® 25 ®© 025 @ 0025
@ 0.02x0.6 =

0.012 ® o012 © 12 @ 12

15 ® 27 © 2 @ 63
@ i+

[ ® - © 2 @ 3
410 is equivalentto 8 : .....

@ 10 ® 2 © 4 @ 20
33x3...33x3

> @ = @ < @ otherwise
@ ;3 ......... The reciprocalof%

> @ = @ < @ otherwise
@ o3

3 ® 1 © 8 @ 3
@ tx.-1

:  ®4 ® s @ :
@ ——t02=12

24 ® 024 © 24 @ 0.024
@ jx-m

3 ® : © s @ -
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@9) lof27-..

® 3 ® 5 © 27 @ %
@ ...+§=9

@ ; ® 3 © 27 @ 5
@ Ahmed scored 25 point in 3 basketball games, the ratio scored by Ahmed is.........

75:3 ® 3:75 © 25:3 3:25
0.3x01x02-...

® &6 ® o6 © o006

The simplest form of 220 : 110 is ....

@ 22010 ® = © 21

If 3:7 is equivalent to X:21, then X = ---

0.006

® ® @ ®

6 ® 49 ® 9 3
If the ratio between a and b is 2:3 and the sum of aand biis 35, thena = -

21 ® s © 4 @
Which of the following ratios is not equivalent to the three ratios ?

@ 3 = @ % @ =
If the ratio g is equivalent to x1__51 , then x=---

25 ® 40 ® 9 @ 4

Which of the following ratios are equivalent?

3 il 2 4 12 L% 2. @
Zandg @ Eand E @ E andg @ Eand;
If the ratio x : 4 is equivalent to 3:12 then x+3 = ---

@ &6 ® 3 © 4 @ 5

I the ratio between two numbers is 5:7 and the greater number is 21, then the smaller
numberis ......

@ 12 ® 4 © 10 @ 15

® ® ® ® ©® @ ®

®

°_8)
® 3 ® 4 © 24 @ 2
e 000 sy 0 e s e i
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To find the simplest form of the ratio 14:16 , we divide the two terms by ....

3 ® 6 © 2 @ %
From the opposite equivalent ratio, b—a = -+ 2 a 10
3 12 b
12 ® 7 ®© 15 @ 22
8 . 2
. ® 1 @i @ 2
ifl:a =9:27,thena-=...
3 ® 1 ©® 5 @ 9
which of the following are equivalent?
(@ 5:6,2:3 ® 6:3,12 © 39,51 @ 4:10,6:15
....... +4=3x
' 4
3 ® ; © ; @
= of 2=
8 ® s © ; @ 2
How many% are there in 9 Apples?
i
s ® 3 ® 13 @ 3
45 ...
18 32V
@ s ® 9 © 3 @ 2
Sarah has 3 green apples and 4 red apples, so The ratio between red apples and the total
number of apples
@ 4:3 ® 3:4 © 3.7 @ 4:7
8
§=4— 16 1 9
5 ® & © 3 ® 3
flx—5=9 ,thenx = ...
3 ® 5 ® 15 @ 27
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@ The reciprocal of B is ....

® o ® s © - @ -
@ IFaxb=cthenc=+b-=..,whereaandb doesn't equal zero

(@ bxa ® ® a @ b
@ iF7:13=x:52,thenx = -

@ 1 ® 2 © 28 @ 35
@ 0.37x 0.1 = -

@ 37 ® 37 © 0370 @ 0037
If% =1x—5,thenx = ..

2 ® 4 © &6 @ 1
@ i+ 0.4=05

20 ® 020 O @ 0020
31x04 ... 3.1x4

< ® > © - @
6+2 = .

24 ® 42 © 83 @ 32
@ If 3:5is equivalent to X:10, then X = -+

@ 6 ® 49 ®© 9 @ 3
48+-06=+6

0.48 ® 84 © 48 @ 480
How many 11—0 is are there in %?

3 ® 4 ® 6 @ 8
1235 ... 0.12 x 35

< ® - © - @
Which of the following ratios are equivalent?

@ f—oand% ® f—land% © ﬁand% @ %andg

Jay o JUA o Cilhluiallg CilSasll e Jgiall plisos
R s M 4
A A ®
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Iftheratio9:27=1:b thenb+3 = ---

6 ® 3
. b= ... =24
: ® ,
0.0045x 100 = ---
0.45 ® 45

®© 9 @ 5
© 9 @ -
© 45 @ 0045

If the ratio of the number of blue balls to the number of red balls is 1:5 and the number of red is

30, then the number of blueis........

25 ® 5 © &6 @ 55
From the opposite equivalent ratio, b—a = - 3 6 b
4 a 16
12 ® 4 ® 15 @ 8
5 2
@ If the ratiogis equivalent to 25: X thenX —5 = --- 30
@ 1.t .3
5 i =
@ .7.+7=1
@ Fourthof24 = ---6 ...
® 1ix.1.=2
3 2 3
(1) IF24x31=744,then 0.24 x 3.1 = --0.744 .....
521+ 01=--521..
@ 3.4_3 g
Z+-==X ..o
5 7 5 4
5 10 A5, 20
W WMt [3, 21 28, & 4
® From the opposite double number line ol
E ) B R -
5 740 15 20 25 ———+—+—+—
os5100 00
B OO0 s 5 il el e sl
w8 El.Motamyez.School o - 2
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Findx=...10...,y=...6......, from the girls i 4 y
opposite table . boys 3 X 15
If the ratio betweenaand bis 3:5,and bis10,thena=---6 ...

32x0.2=..064.
ifi=2 then3x14=7x%..6...
7 ik

IF2=Z then X = -+ 16...

5 20
The next ratio of 1:3,3 to 9 ,%, w27:8l.....
If the ratio g is equivalentto18: X thenX —2 = .-+ 13 ...
IF2 =22 then3X = --21..

X 28
64:48 = ..4. : ..3. [inthesimplest form]

IF2=22 thenX+2 = -7 ...
X 35
The firsttermintheratio4:9 is ..4.. X
From the opposite triangle , find the ratio between ol 5cm
x y and the perimeter of the triangle is ....5.... : .12....
L i X = V4
if 5 Is equivalent to = ,thenx—4 =---4 . 3 c1f, y
17x 2.25 =L.438252
42:63=2:.3..

if < = % thenx + 2 = ---20...

32

Ahmed bought 1 110 bag of sweets at a price of 4 15—0 pounds per bag, so what Ahmed pays

75x031 ....... =40 7.5x31
The ratio between the number of
red squares to the number of blue
squares =.....0: 3 .....

.3 _ a2
2+ ; =4 3
Zof 15 is ..6.

ooo Jjoy 2o JUA (o LiljLuialllg CilSanll yle Jguaall plidos
R s ~gio)l” dace 113 | 4
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20 + - = 100
5
845+-0.01 = 845
18:12= ..3. : ..2. [inthesimplest form]
a 18
": ;= Z,thena+ 2 =--8.

IF2 = 9, then.B6.x ...4.=3 x 8
4 8
the next ratio of 1:2,2:4,4:8,..8:16...

The ratio between number of triangles and - - - A A

number of squares is ......2:3....
3.6 x..1000.. = 3600

Question 03 Answer the following questions )

@ Find the result :
()2 =3 (b) 19—1 8o %‘% (D)046 x09 ()3 0f§ (F)16:02

5 22

ONONONRONONGNORE)

(2)3% G > s PRl G
3 14 18 8 q:

(D) 0414 (E)3X g -2 (F16:2 =8

N

@ Rana covered % Kilometer in 2 minute, How many Kilometer did she covered in one

minute?
2 1
-+2==km
5 g

Ahmed bought 8.5 litres of juice , the price of one litre is 13.7 L.E, How much did he pay ?

®

8.5 x13.7 = 116.45 pounds
@ you have% kg and you want to divide it into pieces the mass of each piece is E kg .How

many pieces can you make?
9 2 g

i 2997, 1
= 2_lrzpleces
@ sara has 6 liters of juice , she needs to divide them into small bottles oF% liter each . How

many bottles does she need ?

B2 =6 x
3

N W

- ? = 9 bottles

oy aumo JUA o LihLiiallg LS sl le Jguanll plido,
Mo a _ iiall" Gadwa IS | i



https://ktabyeg.com

Math

primary 6 - second term

@ If the cost of 4 books is 280 L.E what is the cost of 20 books

%: 70 le : 70 x 20 = 1400 LE
@ Find the value of X in each of the following :-
3 x+3 X—2 9
[a]; = ? [b] T = ;
(a)9=x+3 b)yx—2=1
X =7h x =3

If the price of 6 kg of orange is 36 pounds , what is the price of 9 kg of orange ?

36-6=6le /// 6x9=54le
@ Find each ratio in simplest form : (a) 33:55 (b) 36:24

va)3: 5 (b)3:2

If the ratio between of boys and girls in a class is 7:4 and the number of boys is 56 boys .
Find the total pupils in the class.
boys: girls
7:4
56:a
a=32
the total = 56 + 32 = 88
® If Mahmoud has 4 green balloons and 12 red balloons, what is the ratio between each of

them in its simplest form:
(a) Number of green balloons to Number of red balloons.

(b) The total number of balloons to the number of red balloons.
(d) 4 :12 =123 (b)16:12=4:3

@ Hana distributed % kilograms of coffee into packages equally, then each package contains

% kilograms. What is The number of these packages?

w

The number of packages = % +# =222 packages .

@ If the price of 5 kg of oranges is 50 pounds, then what is the price of 8 kg of oranges?
The price of 1kg = 50 = 5 =10 pounds

The price of 8 kg =10 x 8 = 80 pounds

% 090

El.Motamyez.School
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@ Find the answer for each of the following :

(a) ; =2 (b) 9.7 x 0.4 (9= % (d)18.5 =125
[alg X % & % (b) 3.88 Q12 (d) 148
Find the value of m in each of the following :-
ta)§><m=§ (meT‘S=g
1 . 2 _ l e . -
a) ;TE—G // b) m—3 =2 m=2+3=5

yossef can cover 2km every 7 minutes, calculate the time he must cover 8 km.

Zkr,n Ll ,thena=7x%x4=28 min

7min a

Find:- (a) % - § (b)56+0.7 (c)0.32x 0.12 (d]%of 48

() —X3=—"=2 (b)=8 (c) = 0.0384 (d)ix48 =12
12 12 4 4

A class has 18 boys and 24 girls , complete in the simplest form the ratio between
a) the number of girls and the number of boys 4:3

b) the number of boys and the number of girls 3:4

c) the number of girls and the number of class students 4:7

d) the number of boys and the number of class students 3:7

< alll 2oy pi

il il G 7S Lt D 2 i VG SRS AT G018 e o ) oy
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